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; 100kN/mM%#B % % - -~ -|3mEHEZ D -~ - - -| 100kN/mi%#8 2% - -~ -[3mEHEZ S -~ -
Zhllst 100|000 ~ 489 60.91 | #hist | 000 ~ 000|167 891 Zhllst 100|500 ~ 520 60.91 | Thst | 500 ~ 520 1.67 891
2 100kN/mM%#B % % ~ -|3mEHEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZ S -~
Zhllst 100|000 ~ 454 56.60 | #nst | 000 ~ 000)]1.57 840 Zhllst 100|500 ~ 500 56.60 | ThLlst | 500 ~ 500 1.57 840
3 100kN/mM%#B % % ~ -|3mEHEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~
Zhllst 100|000 ~ 530 66.10 | #hst | 0.00 ~ 0.00| 1.60 859 Zhist 100|500 ~ 6.00 66.10 | Thist | 500 ~ 6.00 )| 1.60 8569
4 100kN/mM%#B % % ~ -|3mEHEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~
Zhllst 100|000 ~ 515 64.22 | #Fhist | 000 ~ 000|162 867 Zhist 100|500 ~ 570 64.22 | ThS | 500 ~ 5.70 | 1.62 867
5 100kN/mM%#B % % ~ -|3mEEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZ S -~
Zhllst 100|000 ~ 548 68.41 | #huust | 000 ~ 548|173 9.27 Zhllst 100|500 ~ 6.00 68.41 | Thist | 500 ~ 6.00)|1.73 9.27
P 100kN/mM%#B % % ~ -|3mEHEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~
Zhllst 100|000 ~ 551 68.78 | #nuust | 000 ~ 551|184 9.87 ZFh st 100|500 ~ 620 68.78 | Thist | 500 ~ 620 1.84 9.87
- 100kN/mM%#B %% ~ -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~ - - -
Zhllst 100|000 ~ 586 73.27 | FhS | 000 ~ 586|177 9.46 Zhllst 100|500 ~ 6.60 73.27 | ThUUS | 500 ~ 6.60|1.77 9.46
s 100kN/mM%#B % % ~ -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ -[3mEHEZ S -~ - - -
Zhllst 100|000 ~ 548 68.35 | #hust | 000 ~ 000|171 917 Zhllst 100|500 ~ 6.00 68.35 | TS | 500 ~ 6.00|1.71 917
9 100kN/mM%#B % % ~ -|3mEHEZ B -~ -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~
Zh s 1001000 ~ 418 5223 | #hdstk |0oo ~ 418|203 10.84 Fn Lot 1.00 | 5.00 ~ 5.00 52.23 | #hs | 5.00 ~ 5.00 203 10.84
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEEZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEZD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhn st ~ Zh st ~ Zhn st ~ Zh st ~
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